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1. Introduction
Previously, CT1 sent the LS on NAS-AS interaction in terms of NS-AoS to RAN2 and asked RAN2 for preferred alternative of how the UE NAS can know whether the UE is in an NS-AoS or not [1]. The candidate alternatives are as below.
	Alternative 1
The NAS layer forwards the S-NSSAI location availability information to the AS layer. Based on the S-NSSAI location availability and the UE’s serving cell, the AS layer indicates whether the UE is inside or outside an NS-AoS to the NAS layer.
Alternative 2
The NAS layer receives information of the UE’s serving cell from the AS layer.


During the last RAN2#122 meeting, RAN2 discussed the pros and cons of these two alternatives and made consensus on the final decision of choosing Alternative 2 [2], and the approved Reply LS is [3].
We go with Alt2, send reply LS
This contribution mainly focuses on the impacts of Alternative 2 on RAN2 specification.
2. Discussion
According to the agreed CR [4] in the last CT1 meeting, there still remains some details of NS-AoS for further check. To discuss the impacts of Alternative 2, RAN2 can consider the following two options for the solution details.
· Option 1: RAN2 defines solution details and informs CT1
For this option, RAN2 needs to further figure out two detailed problems as shown below.
1) Serving cell information needed for Alternative 2 
The serving cell information mentioned in Alternative 2 is just a logical representation and there are many cell identifiers (PCI, NCGI, etc.) can be used to identify the serving cell. RAN2 should discuss how detailed the serving cell information is described in RAN2 specification. From RAN2’s point of view, NCGI can be a more suitable manner to represent the serving cell because it can identify a cell globally in a PLMN and will not cause cell identity collision like PCI. As a result, RAN2 can determine to use NCGI as the specific cell identifier and informs CT1. 
Observation 1: NCGI can be used to identify the serving cell.
2) Applicable RRC states for Alternative 2
From RAN2’s perspective, the serving cell may change in any RRC states. For instances, for a UE in idle/inactive state, the serving cell will change due to cell reselection. While for a UE in connected state, the serving cell will change after the handover procedure. As a result, it is reasonable for the UE AS to inform the UE NAS of the serving cell information for all RRC states.
Observation 2: The UE AS should inform the UE NAS of the serving cell information for all RRC states.
· Option 2: RAN2 informs CT1 of our assumption and relies on CT1 about solution details
As for Option 2, RAN2 may inform CT1 of our assumptions, like to use general description for the serving cell information, and to report the serving cell information for all RRC states. However, the solution details should be handled by CT1, e.g. whether the serving cell information means NCGI or other information, and the confirmed applicable RRC states. After that, RAN2 can discuss and check possible impacts on RAN2 specifications based on CT1’s decision.
Hence, RAN2 should discuss which option is more suitable to co-ordinate with CT1. That is, RAN2 can agree on the related CRs [5] [6], and inform CT1 (i.e. Option 1), or RAN2 can inform CT1 of our assumptions [7] and wait for more progress from CT1 (i.e. Option 2).
Proposal 1: It is proposed RAN2 to discuss which option is more suitable to co-ordinate with CT1 for the impacts of Alternative 2:
· Option 1: RAN2 defines solution details and informs CT1
· Option 2: RAN2 informs CT1 of our assumption and relies on CT1 about solution details
3. Conclusion
In this contribution, we mainly discuss the RAN2 impacts due to the preferred alternative of NAS-AS interaction based on the NS-AoS. We have the following observation and proposals:
Proposal 1: It is proposed RAN2 to discuss which option is more suitable to co-ordinate with CT1 for the impacts of Alternative 2:
· Option 1: RAN2 defines solution details and informs CT1
· Option 2: RAN2 informs CT1 of our assumption and relies on CT1 about solution details
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